
7=o; cjlwsf] vr{ ? 8467

s_ cfGtl/s 1=g]kfn ;/sf/M ? 11350

  2=;+:yf M 0.0

 3 =hg;xeflutf M 0.0

v_ a}b]lzs 1=C)f M 

2=cg"bfg M

8=aflif{s ah]̂ sf] t"ngfdf vr{ k|ltzt M  k|ltzt 

      2 ;+:yf M 0.0 9=z"? b]lv o; calw;Ddsf] s"n vr{ k|ltzt - s"n nfutsf] t"ngfdf_M 

      3 hg;xeflutf M 0.0 10=ljt]sf] ;do k|ltztdf - s"n calwsf] t"ngfdf _

       2=cg"bfg

6=2 u_ bft[ ;+:yf /sd ? xhf/df

kl/df)F ef/ ah]^ kl/df)F ah]^ efl/t kl/df)F efl/t kl/df)F efl/t

1 2 3 4 5 6 7 8 9 10 11 12 13

1 kmnkm'n tyf u}/sfi7 g;{/L uf]^f 1 81.94 9300 1 7116.845 77 0 ० 0 0

2 dfemrf}/ df5fkfng of]hgf uf]^f 1 6.17 700 1 0.0 0 0 ० 0 0

3 kz' :jf:Yosf nflu cf}iflw vl/b uf]^f 1 11.89 1350 1 1350.0 100 0 ० 0 0

100 11350 8467 75 0 ० 0 0

b|i^AoM 1 ;fna;fnL ?kdf ;+rfng x"g] sfo{qmdsf] xsdf dxn g+=13 / 14 eg"{ kb}{g

     2 aflif{s nIF k|ult k|:t"t ubf{ ;f] cf=a=sf] k|ult dxn g+=7, 8 / 9 df pNn]v x"g] ePsf]n] dxn g+=10, 11 / 12 eg"{ kb}{g .

 k|ltj]bg cjlw ;Dd o; 

cf=a=sf] k|ult

cfof]hgfsf] s'n dWo] xfn 

;Dd ;DkGg

3=dGqfnoM ;+#Lo dfldnf tyf ;fdfGo k|zf;g dGqfno

;+#Lo dfldnf tyf ;fdfGo k|zf;g dGqfno

vTof* ufp+kflnsf d"u"

jflif{s k|ult

2=ah]^ pkzLif{s g+= 

1=cfly{s aif{ 2074.075

 hDdf 

4=cfof]hgfsf] gfdM ufp+kflnsf cg'bfg - s[lif _

5=cfof]hgf k|d"vsf] gfdM dl)frGb| sfsL{

6=1 v_ a}b]lzs 1=C)F 

l;=g+= sfo{qmd ÷ ljj/)F OsfO{
aflif{s nIF

6=o; cjlwsf] ah]^ ? 11350

jflif{s k|utL



/sd ? xhf/df

14

0
0

0
0

s}lkmot

;+#Lo dfldnf tyf ;fdfGo k|zf;g dGqfno

vTof* ufp+kflnsf d"u"

jflif{s k|ult


